PRE-LAUNCH PRESENTATION

Watch out for the NEW HUGE EXCITING business that will drive people crazy!

Behind this New Company is a Team of a professional Successful

that proves themselves in the proves themselves in the marketing business, who earns millions of dollars

in this market and wants help others to be successful in online business world.

They came together and decided to create a very simple business that will help people

to earn good and stable income online and so, they created a business that is affordable for everyone. Especially for the people who wants to start their online business now.

Before we start.. Let me ask you this How's your life looks like how?

Are you struggling to be successful?

Are you tired of doing your best but still failed?

What if, if someone will show you a new opportunity?

Would you accept it and give it a try?

If YES..

Congratulations you just join a team of a successful people who never give up.

AT THIS PRESENATION

- Discover a completely New Online business.
- As one of the first person who's got to find out about this business, there are many great opportunities that is waiting for you.
- You will get a chance to be a part of this company from the start.

Think about the opportunities that is waiting for you...

Let's start the presentation...

ABOUT THE COMPANY

- It tooks 5 months to create this New business opportunity.
- The pre-launch of this company is starting on February 1, 2016.
- The company will be officially launched on April 1, 2016.
- The company is an International provider of digital products.

PRODUCTS

Infoproducts which is everyone needs in the field of finance, personal development, marketing and investment.

NoNAME

- One-time purchase costs just \$25
- . 10 ways to earn
- International business
- . Weekly payouts
- Free Promotional tools

BONUSES

- 1. General Bonus
- 2. 100% Matching General Bonus
- 3. Deluxe Bonus
- 4. 100% Matching Deluxe Bonus
- 5. Ranking Bonus
- 6. 100% Matching Ranking Bonus
- 7. Sponsor Bonus
- 8. 100% Matching Sponsor Bonus
- 9. Awards
- 10. Direct sales

MARKETING PLAN (general bonus)

| Product and level | Costs of the product | Fee per person | Number of partners | The total potential earnings |
|-------------------|----------------------|----------------|--------------------|------------------------------|
| 1 | \$20 | \$8 | 4 | \$32 |
| 2 | \$20 | \$8 | 16 | \$128 |
| 3 | \$40 | \$16 | 64 | \$1024 |
| 4 | \$90 | \$36 | 256 | \$9216 |
| 5 | \$200 | \$80 | 1024 | \$81 920 |
| 6 | \$400 | \$160 | 4096 | \$655 360 |
| 7 | \$800 | \$320 | 16 384 | \$5 242 880 |
| | | To | tal: \$5 9 | 990 560 |

MARKETING PLAN (general bonus + 100% matching general bonus)

| The total potential earnings | ber of tners | Fee per person | Costs of the product | Product and level |
|------------------------------|-----------------|-------------------|----------------------|-------------------|
| \$32 | 4 | \$8 | \$20 | 1 |
| \$128 | 16 | \$8 | \$20 | 2 |
| \$1024 | 64 | \$16 | \$40 | 3 |
| \$9216 | 256 | \$36 | \$90 | 4 |
| \$81 920 | 1024 | \$80 | \$200 | 5 |
| \$655 360 | 4096 | \$160 | \$400 | 6 |
| \$5 242 880 | 384 | \$320 | \$800 | 7 |
| \$5 990 560 | l: | | | |

| WITH 2 REFERRALS | WITH 10 REFERRALS | WITH 20 REFERRALS |
|---------------------|----------------------|----------------------|
| \$64 | \$320 | \$640 |
| \$256 | \$1280 | \$2560 |
| \$2048 | \$10 240 | \$20 480 |
| \$18 432 | \$92 160 | \$184 320 |
| \$163 840 | \$819 200 | \$1 638 400 |
| \$1 310 720 | \$6 553 600 | \$13 107 200 |
| \$10 485 760 | \$52 428 800 | \$104 857 600 |
| \$11981 120 | \$59 905 600 | \$119 811 200 |

MARKETING PLAN (deluxe bonus)

| Product and level | Costs of the product | Fee per person | Number of partners | The total potential earnings | |
|---------------------|----------------------|----------------|--------------------|------------------------------|--|
| 1 | \$200 | \$80 | 4 | \$320 | |
| 2 | \$200 | \$80 | 16 | \$1280 | |
| 3 | \$400 | \$160 | 64 | \$10 240 | |
| 4 | \$900 | \$360 | 256 | \$92 160 | |
| 5 | \$2000 | \$800 | 1024 | \$819 200 | |
| 6 | \$4000 | \$1600 | 4096 | \$6 553 600 | |
| 7 | \$8000 | \$3200 | 16 384 | \$52 428 800 | |
| Total: \$59 905 600 | | | | | |

MARKETINGPLAN (deluxe bonus + 100%

\$59 905 600

| mostobioa doluvo bonuol | | | | | | | |
|-------------------------|----------------------|-------------------|--------------------|--------------|---|---------------------|---------------------|
| Product and level | Costs of the product | Fee per person | Number of partners | | | WITH 2 REFERRALS | WITH 10 REFERRAL |
| 1 | \$200 | \$80 | 4 | \$320 | | \$640 | \$32 |
| 2 | \$200 | \$80 | 16 | \$1280 | | \$2560 | \$12 8 |
| 3 | \$400 | \$160 | 64 | \$10 240 | H | \$20 480 | \$102 4 |
| 4 | \$900 | \$360 | 256 | \$92 160 | | \$184 320 | \$921 6 |
| 5 | \$2000 | \$800 | 1024 | \$819 200 | | \$1 638 400 | \$8 192 0 |
| 6 | \$4000 | \$1600 | 4096 | \$6 553 600 | | \$13 107 200 | \$65 536 C |
| 7 | \$8000 | \$3200 | 16 384 | \$52 428 800 | | \$104 857 60 | \$524 288 C |

Total:

| WITH 2 REFERRALS | WITH 10 REFERRALS | WITH 20 REFERRALS |
|---------------------|----------------------|----------------------|
| \$640 | \$3200 | \$6400 |
| \$2560 | \$12 800 | \$25 600 |
| \$20 480 | \$102 400 | \$204 800 |
| \$184 320 | \$921 600 | \$1 843 200 |
| \$1 638 400 | \$8 192 000 | \$16 384 000 |
| \$13 107 200 | \$65 536 000 | \$131 072 000 |
| \$104 857 60 | \$524 288 000 | \$1 048 576 000 |
| \$119 811 200 | \$599 056 000 | \$1 198 112 000 |

bonus from every sales in your team.

INSPERSALLIKING BONUS up to
4 referrals must have at least 2 direct
referrals.

Total of \$1000 in team sales (50% of the total
sales can be counted from a single leg.)

Supporter - You will earn an additional 1% infinity bonus from every sales in your team.

4 helpers in your team in 4 different legs.

Total of \$6,000 in team sales (50% of the total sales can be counted from a single leg.)

Leader - You will earn an additional 1% infinity bonus from every sales in your team.

3 Supporters in your team in 3 different legs.
Total of \$20,000 in team sales (50% of the total sales can be counted from a single leg.)

Boss - You will earn an additional 1% infinity bonus from every sales in your team

100% MATCHING RANKING BONUS

- 1. 100% Matching Bonus from each Helper below you.
- 2. 100% Matching Bonus from each Supporter below you.
- 3. 100% Matching Bonus from each Leader below you.
- 4. 100% Matching Bonus from each Boss below you.

SPONSOR BONUS

- To be qualified to this bonus you must have at least 100 direct referrals.
- You will earn an additional 3% infinity bonus from every sales in your team:

100% MATCHING SPONSOR BONUS

100% Matching Bonus from each qualified person below you who is qualified for SPONSOR BONUS.

AWARDS

The company will have new exciting promotions and offers after the company officially launched on the 1st of April 2016.

DIRECT SALES OF PRODUCTS

Members can earn extra money by selling the products provided by the company.

DISCLAIMER

There is no guarantee that you will make these levels of income and you accept the risk that the earnings and income statements differ by individuals, but it will be possible to earn more. This presentation shows you the potential earning in this company. Your results may vary, and will be based on your dedication, individual capacity, work ethic, greater strategy, and level of desire.

You agree that our company is not responsible for the success or failure of your business decisions relating to any information presented to you.

COMPANY PLANS

- Build a Few Million community.
- To provide additional applications, websites and offers for all affiliates.
- Create projects that will generate more benefits for all members.
- Surprises

Pre-launch (01.02 - 01.04)

- Grab the opportunity to take a positions in general plan and deluxe plan.
- Invite minimum of 4 friends and teach them the duplication.
- During the pre-launch of the company the public advertising is not allowed.

HOW TO JOIN?

In the pre-launch phase we don't accept payments online.

To buy a products we use vouchers. Vouchers are generated by the admins, master distributors and users.

Contact the person who showed you this presentation and ASK FOR YOUR VOUCHER